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mid_scores = [10, 20, 30]
final_scores = [70, 80, 90]

>>> total = (mid_scores + final_scores)
>>> total
[10, 20, 30, 70, 80, 90]

import numpy as np

mid_scores = np.array([10, 20, 30])
final_scores = np.array([70, 80, 90])

total = mid_scores + final_scores
print(total)

array([ 80, 100, 120])
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heights = [ 1.83, 1.76, 1.69, 1. 86, 1.77, 1.73 ]
weights =[ 86, 74, 59, 95, 80, 68 ]

weight (kg)
height® (m?)

BMI =

A o ES b 2t
< 25kg/m’ 25 - 29kg/m* > 30kg/m’
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import numpy as np

heights = [ 1.83, 1.76, 1.69, 1.86, 1.77, 1.73 ]
weights =[ 86, 74, 59, 95, 80, 68 ]

np_heights = np.array(heights)
np_weights = np.array(weights)

bmi = np_weights/ (np_heights**2)
bmi

[25.68007405 23.88946281 20.65754 27.45982194 25.53544639 22.72043837]
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grqdes=[808, 7]2, 9431]

>>> grades[2]
[?3]

grades=[88, 72, 93, 94]
>>> grades[1:3]
72, 93]
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>>> ages = np.array([18, 19, 25, 30, 28])
>>>y = ages > 20

>>> y

array([False, False, True, True, True])

>>> ages[ ages > 20 |
array([25, 30, 28])

18 False
19 False 25

25 True ? 30
30 True 28

28 True
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Lab: BMI™ 20 15 A=E F30rT e

import numpy as np

heights = [ 1.83, 1.76, 1.69, 1.86, 1.77, 1.73 ]
weights =[ 86, 74, 59, 95, 80, 68 ]

np_heights = np.array(heights)
np_weights = np.array(weights)

bmi = np_weights/ (np_heights**2)
print(bmi[bmi > 25])

array([25.68007405, 27.45982194, 25.53544639])
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>>> import numpy as np
>>>y = [[1,2,3], [4,5,6], [7,8,9]]
>>> y

[[1,2, 3], [4, 5, 6], [7, 8, 9]]

>>> ny = np.array(y)
>>> ny
array([[1, 2, 3],

[4’ 5) 6])

[7, 8, 91])
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>>> import numpy as np
>>>y = [[1,2,3], [4,5,6], [7,8,9]]
>>> y

[[1,2, 3], [4, 5, 6], [7, 8, 9]]

>>> ny = np.array(y)

>>> ny
array([[1, 2, 3],
[4’ 5’ 6]’
[7, 8, 911)
s % i ole
0 1 2

|>12r0 =rE w2t
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>>> import numpy as np
>>> np.arange(5)
array([0, 1, 2, 3, 4])

>>> np.arange(1, 6)
array([1, 2, 3, 4, 5])

>>> np.arange(1, 10, 2)
array([1, 3, 5, 7, 9])
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linspace()

>>> np.linspace(0, 10, 100)
array([ 0. , 0.1010101, 0.2020202 , 0.3030303, 0.4040404 ,

8.08080808, 8.18181818, 8.28282828, 8.38383838, 8.48484848,
8.58585859, 8.68686869, 8.78787879, 8.88888889, 8.98989899,
9.09090909, 9.19191919, 9.29292929, 9.39393939, 9.49494949,
9.5959596 , 9.6969697 , 9.7979798 , 9.8989899 , 10. D

>>> np.logspace(0, 5, 10)

array([1.00000000e+00, 3.59381366e+00, 1.29154967e+01, 4.64158883e+01,
1.66810054e+02, 5.99484250e+02, 2.15443469e+03, 7.74263683e+03,
2.78255940e+04, 1.00000000e+05])
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reshape()

>>>y = np.arange(12)
array([0, 1, 2, 3, 4, 5, 6, 7, 8, 9,10, 11])

>>> y.reshape(3, 4)

array([[ 0, 1, 2, 3],
[4’ 5’ 6’ 7])
[8, 9,10, 11]])

>>> y.reshape(6, -1)
array([[ 0, 1],

[2, 3],

[ 4, 5],

[6, 7],

[8, 9],

[10, 11]])
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>>> np.random.seed(100)

>>> np.random.rand(5)
array([0.54340494, 0.27836939, 0.42451759, 0.84477613, 0.00471886])

>>> np.random.rand(5, 3)

array([[0.12156912, 0.67074908, 0.82585276],
[0.13670659, 0.57509333, 0.89132195],
[0.20920212, 0.18532822, 0.10837689],
[0.21969749, 0.97862378, 0.81168315],
[0.17194101, 0.81622475, 0.27407375]])

1000
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200 4
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>>> np.random.randn(5)

array([ 0.78148842, -0.65438103, 0.04117247, -0.20191691

>>> np.random.randn(5, 4)

array([[ 0.22893207, -0.40803994, -0.10392514,
1.83861168,
-0.98294346,
1.15117366,
0.10359513,

[ 0.49702472,
[ 0.25499773,
[ 0.83850061,
[-0.51099219,

1.15587233,
-0.84415725,
-1.69084816,
-2.36027053,

>>>m = 10; sigma = 2
>>> m + sigma*np.random.randn(5)
array([ 8.56778091, 10.84543531,

, -0.87081315])

1.56717879],
1.53572662],

-0.30609783],
-1.02933685],

1.73881773]])

9.77559704, 9.09052469, 9.48651379])
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import numpy as np
import matplotlib.pyplot as plt

m = 10; sigma = 2
x1 = np.random.randn(10000)
X2 = m+sigma*np.random.randn(10000)

plt.figure(figsize=(10,6))

plt.hist(x1, bins=20, alpha=0.4) #2002 AXIE 0|20t SIAE I HA
plt.hist(x2, bins=20, alpha=0.4)

plt.show()
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